U3D6 - per8-9 Parabolas Standard Form.notebook October 21, 2019

- o Quiz today on solving a parabola/line
Hw 3 5' Answers system both algebraically & graphically

like HW 3-4 #s 1 & 2. Let me know if you
. have a ? as | go over homework.
1 - 3: Check with Partner
Castle Learning Unit 3 Review is also
available now for extra practice. You all

4. x=-1,y=-2,z2=1 should do it.

Aug 13-9:18 AM

Graph each of the parabolas given without the use of a calculator. Find and label all parts.

-‘s Yy P
L (y+2)=4(x-3) 5,’-: +
[4pl = _4
e INEE-E
Vertex: ‘3"2) i *_ S X

Focus: “‘, ‘2> - ' <=5 A08
Directrix: x= L

AQS: * =’9_ u

Aug 13-12:18 PM
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Liih

Lr s

2 w-2pe2en  XeE= Y

Focus:_(Z,iﬂZ) o _-ll |
Directrix: , = —512 e | e 'ﬂ-é . § - .p
nos:_A=Z . f

Aug 13-12:19 PM

Y
(x-1*=-8(y-2) ; [ ]

|4p| = ___%

pz_— z

Vertex: l '; Z ) 7/,/ 'I:\M .
Focus: | ’ ) O ] £
Directrix: u = L"

AOS: = |
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4. Solve the system algebraically. Check your answer with your GC.

@ 3X‘2y+z:2

g 2x+3y+2z= 6 “Y X+ Yy=-10
3 .3x-y*z:0 L{)('ﬁy sl
-20+ @ 2y-=4
~lX+4y -22 = 4 Y= %
IX t3Y +12 b Yx+)0= b
-4X+ 7y=-10 3 X=d
S pa
‘ -3+2+2=0
20+ 0 Z-|
21X+ 3y+22-"lﬂ
“WX42y ~22-20
“4X+oYy =0
Yyx—-5u=0

Review HW 3 - 4: #1 & 2 (Quiz tod

1l y=-x*+4x+2
2x+y=7

Y=2x+7

Bow-7

Oct 16-1:28 PM
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X3+5X—10=2X+|8§
X+3X-28=0 { 7,0 4,2@)}
(en)(x-H=0 ’
Y=-7|X=4
ye2EHe |y=2(4)+8
VY2

Sep 9-9:32 PM

U3D6

More

Parabolas

Aug 13-9:09 AM
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Warm-up Not In Your Notes - State which direction the parabola will open:

1. (x- 372 =5(y - 2)

2. (y-2)=-3(x+1)
3. (x+4)>=-2(y + 3)

4.(y-52=7(x+4)

Oct 21-7:18 AM

Warm-up Not In Your Notes - State which direction the parabola will open:

1.(x-32€Bly-2) TS x5 4P

— — - —

2.(v-22 €3k + 1) D 4O

3.x+ap {2 +3) [ x4
Lo-S e ISy T

Oct 21-7:18 AM
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Write the equations of the parabol n standar'd form Find all required parts and graph.
1. x2-4x-4y+8=0 C (xh)* ‘6"9’@5L

et = 4y-8+ L
XL(X A*r = "‘lu\b— 5 \l\.,,:;—"‘()

[ (Y = ‘i(gr J v n
7(x—k\‘§ é/(c;:'))’x“
= ()" h YA

g = K
e _7_[)(-).) +/ 0P U PP 6 Y

4p| =4 (wilth=24X)

p= I Y-&,V-D

Vertex: (a; / > AcS

Focus: (2, 2.)

Directrix: Y)1=0
J

AOS: X =~

Aug 13-12:20 PM

2. x2+6x+8y+25=0
(X+_3) = - 4 — b KL" ] y L
[ e =86 v ) Py
~ {
Solve fory. "_g‘ (x+3) :{?(%'(-7\)%87) ‘
gty
@ 4w=T% k)
//
A &
40 ‘
wi-_ 3% oo o vpeF \
Vertex: CS,—Q) Focus: (‘ 5, “Q v \\V
Directrix: fé._.‘-"o AOS: X==>
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hundredth
3. Find the solutions to the nearest Tenth using your graphing calculator.
Include a sketch with labeled points of in‘rer'sacﬁ@he window you used to see

————————eeee

the graph including all points of intersection.

\3‘ 5:_5?-2;17“3 L{q 2>
VB%Squ‘rion: 2( 'qo }—(D‘SIB <—7>‘70)‘2’Q )/

Window: C:qo) é:SO
Xmin__ 1O ymin_— 70
Xmax /D Ymax /D '({0\

(-3 49,”

4, The directrix of the pa abol@y + 3) = (x - 4)? has the equcm'o?y = -6. Find the
coordinates of ‘rhe‘f the parabola. (from the A2CC Regents exam, 6/16)

(x=7= (g 13) %
_ Vst (4, Y e G
Q’E ? =3
%,O) 3{:_}
é‘r”"é ToA=EY

@ (b
5. Write the equation in vertex form then

O x?-4x-16y-12=0 VefL((XL_Y-J__Qg(%-)-, ))}{

'L—°{x+_(/__‘)63 +|>_+_L (J:H (X——).)
X l\l i /éU\ +(é
/ (x-2) "= /e(%H)}

“" |

3_':_ t (S("Q-)l“/

Sep 9-9:57 PM
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Sep 13-4:26 PM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

